GCG Exam Couse Details

The GCG Exam is a prestigious scholarship test designed for students who have appeared for
their Standard 10 examinations in 2025. This exam evaluates students’ proficiency across
multiple subjects, covering fundamental concepts from Standards 8 to 10. It is open to both
Gujarati and English medium students and serves as a gateway for meritorious students to
secure scholarships and recognition for their academic excellence.

© Eligibility Criteria:

To apply for the GCG Exam, students must fulfil the following criteria:

o Educational Qualification — Students who have appeared for their Standard 10 exams
in 2025.

o Medium of Instruction — Open to both Gujarati and English medium students.

o School Type - Students from all boards (State, CBSE, ICSE, etc.) are eligible.

o Age Limit — No strict age limit, but students should belong to the Standard 10 batch of
2025.

o Documents Required -
 Recent passport-size photograph
« Standard 10 exam hall ticket
» Any government-issued ID proof such as Aadhaar Card

Isi Exam Structure:

Total Questions 100 (All Compulsory)

Marks Per Questions 1

Negative Marking -0.33 For Each Wrong Answer
Total Marks 100

Duration 120 Minutes (2 Hours)




[k Subject-Wise Mark Distribution:

Gujrati 10
English 10
Mathematics 20
Social Science & Science and Technology 30
General Knowledge & Mental Ability 30

[k Syllabus of Each Subject:

) Gujarati (10 Marks)

v Grammar: Samas, Sandhi, Alankar, etc.

v Vocabulary: Synonyms, Antonyms, Idioms, Phrases
v Comprehension Passages

v Essay Writing Basics

v Sentence Structure & Correction

. English (10 Marks)

v Grammar: Tenses, Voice, Speech, Articles, Prepositions

v Vocabulary: Synonyms, Antonyms, One-word Substitutions
v Sentence Formation & Error Detection

v Reading Comprehension

v Basic Writing Skills

Il Mathematics (20 Marks)

v Number System

v Algebra: Linear Equations, Polynomials

v Geometry: Triangles, Circles, Coordinate Geometry

v Mensuration: Area, Volume, Perimeter

v Data Interpretation: Graphs, Charts

v Arithmetic: Percentages, Profit & Loss, Ratio & Proportion




@ Social Science & Science and Technology (30 Marks)
History & Civics

v Important Historical Events

v Freedom Movement

v Constitution & Governance

@ Geography

v Physical Geography
v Climate

v Natural Resources
v Agriculture

Science & Technology
Physics
v Motion
v Electricity
v Magnetism
< Chemistry
v Acids-Bases
v Periodic Table
v Chemical Reactions
<+ Biology
v Human Body
v Ecosystem
v Genetics
%’ Technology
v Space Science
v Innovations
v Environmental Issues

@ General Knowledge & Mental Ability (30 Marks)

General Knowledge
Vv Current Affairs (National & International)
v Indian Economy & Polity
v Important Personalities & Events
v Science & Sports News
= Mental Ability
v Logical Reasoning: Series, Coding-Decoding, Analogies
v Numerical Ability: Basic Arithmetic, Sequences
v Problem-Solving Questions




= Additional Notes:

Manage Your Time Wisely
With 100 questions to be completed in just 120 minutes, time management is crucial.

Prioritize easier questions first to maximize your score.

Answer Smartly, Not Randomly @
Since there is negative marking (-0.33 per wrong answer), avoid blind guessing. Instead, use

logical elimination techniques for better accuracy.

Concept Over Cramming I

The exam focuses on conceptual clarity and application skills, not rote memorization.
Understanding the "why" behind concepts will help you tackle tricky questions.

Follow the Right Study Materials )
For effective preparation, refer to NCERT textbooks and reference materials from Standards

8 to 10. These resources cover the core syllabus and provide a solid foundation.
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